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4 )41.I’m glad that my school has students wear . I don’t have

to worry about what clothes to wear to school.
(1) belts (2) caps (3) gloves (4) uniforms

1 )42. Jenny’s bag is very heavy because filled with toy cars.
(1) it is (2) they are (3) there is (4) there are

1 )43. All the excuses Nick made a lot about how much he
hates to do the job.



(1) say (2) saying (3) which say (4) to say

)44.The 1s so strong today that my hair keeps blowing in the
air.
(1) rain (2) snow (3) sun (4) wind

)45.You need not only good luck but also hard work to become a
baseball player.
(1) young (2) successful (3) happy (4) friendly

)46.Dad: Have you brushed your teeth yet? Ann: No, but I
before I go to bed.
(1) haven’t (2) have (3) won’t (4) will

)47. Which of the following description about Window 10 1s wrong?
(1) It is a kind of operating system.
(2) It is for personal computer.
(3) Its previous version is Windows 9.
(4) It can use on the mobile device.
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(® VOF News 16/01/2015

For many people, having a cup of coffee right out of
bed is the best way to start a day. But a report from Asap
Science says otherwise. It says the worst time for coffee is
soon after we get up. When we wake up, our bodies start

to make cortisol. Cortisol helps us to think clearly and be

quick to understand and act. The cortisol levels rise after we wake up
and climb to the highest in about an hour. So there are two problems
when we drink coffee during this time: (1) our bodies will make less
cortisol, and (2) the cortisol will make coffee less useful. And that's why
some of us drink more and more cotfee.

Then, when's the best time to have coffee? When the cortisol levels
are going down, the report says. Cortisol levels are usually highest
between 8 a.m. and 9 a.m., between noon and 1 p.m., and between 5:30
p.m. and 6:30 p.m. So if you want to have coffee, enjoy it after these
times, and this popular drink will help you the most.

# What do you think?
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(4 )48. Which idea is talked about in the news?
(1) How often we should drink coffee.
(2) What happens when we have too much coffee.
(3) How to help the body make the cortisol we need.
(4) What happens when we have coffee at the wrong time.
(3 )49. What does it mean when someone thinks otherwise about
something?
(1) They are serious about it.
(2) They have no idea about it.
(3) They think differently about it.
(4) They do not think it is a problem.
(4 )50. The picture below shows how the cortisol levels rise and fall
during the day. From the news, which is a good time for coftee?
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